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E(Y)=8%02+9%x0.4+10x0.4=9.2 (/)

MR LE, Ao b, BB ZE
D(X)=(8-9.2)"x0.3+(9-9.2)?x0.2
+(10-9.2)* x0.5=0.76

D(Y)=(8-9.2)>x0.2+(9—9.2)* x 0.4
+(10-9.2)> x 0.4 = 0.624

T p(x)> DY), NWZHIHEEKFEEHERE




B2 WHEPLAE X ~b(,p), >R D(X)

N X 0 1
B X W AmEN
P| 1-p p

E(X)=0x(1-p)+1xp=p

E(XH)=0x(1-p)+1’xp=p

D(X)=E(X*)-[E(X)E p-p* = p(- p)




#l3 EFENLASE X ~ P(A), ?J??(_i()
& Xaﬁ/\muy'j P{X = k}_ﬂ

IR Ex) = (k = 0,1,2, )
E(X?)=E[X(X - 1)+X)]=E[X(X D]+ E(X)

00

~ ﬂ,k -1 _/1 ﬂk -2
Zk(k 1) +A = Z(k ot

—ﬂze"le’1+/1 /12+/1
D(X)=EX)-[EX)=A*+1-1"=21




77 Z B8 R -
JECR

(1) & CEFE, I
(2) & CEwE, xelEyle, N

(3) #a,biEwE, X,y efEyl e, N

(4) D(X)=0AREXRMHRZ X IR 1 BUEH
C.Hl P{X=C}=1.




D(CX) = E{|[CX — E(CX)]"}
=C’E{[X - E(X)I'}

= C’D(X).
Uk (3) D(aX +bY) = E[aX + bY — E(aX +bY)[’

= E{a[X — E(X)]+b[Y - E(V)]}’
= a*E{[X — E(X)|*}+ b*E{[Y — E(Y)]*}

+2abE{[X — E(X)][Y - E(Y)]}

=a’D(X)+b’D(Y)+2abE{[X — E(X)][Y - E(Y)]}



e, & X, YA BT,

*E}_h %“ﬁaaza”'aanm{_u l%é&
X1 9X2 9"'9Xn %*Hﬁzmjﬁggﬁ*ﬂgiy ﬁ




wla EBENLA = X ~bn,p), KE(X), D(X)
Ay - 1 AEFRGRE KA
“lo AR KA
(k=1529"'9n)
“IOAAIEXF X=X, +X,++X,
VA = ) X
X R oA, iy X 01
Pl1-p p
E(X,)=p, D(X,)=pd-p)




E(X)=EQYX,) =Y E(X,) =np

YHN X, ,X,, X, FHERSL, ]

D(X)=D(Y X,) =Y D(X,) = np(1- p)




. HEL
RS it
7
7

1
E;‘%nﬁﬁé\\\ﬁﬁ-
ﬁfﬁz% X i
s
1 "
0

) 1’
| E p
(X)=1 )
— L p
D(X EpX
g +0-
(X%) e
—|E
(X
)I°

=12
p+02
(1-
p)-p
Pq-



2. —Inso%n

&%M&%XWMﬁﬁﬁnp:mﬁﬁ,
HamenN
P{X — k} — [ijk(l_p)n_ka(k — 0,1,2,”',11),
g 0< p<l1.
E(X)=Zk-P{X=k}

B



= L jr(n— k),p ‘a-p
_N\ np(n—1)! k=14 - \(n=1)—(k-1)
" & k-nim-n-@-npf TP
Z (n—1)! k 1(1_ p)(n—l)—(k—l)

= (k—=1)![(n—-1)— (k- 1)]'
=np|p+(1- p)|""

= np.



E(X)=E[X(X-1+ X]

= E[X(X = 1)]+ E(X)

—Zk(k 1)( )p (1= p)"™" +np

p’aA-p)"*+n

k(k-1n! ,
Z:k'( — k)



=”(n—1)p2i (n—-2)!

& (n - k)(k—2)! A= p)TTY

+ np

— n(n—l)pz[p_l_(l_p)]n—z + np
- (n2 — ”)P2 + np.

D(X)=E(X")-[E(X)
— (n2 _ n)pz +np— (np)2

= np(1- p).



3. B9

WX ~na(l), BN
ﬂk
P{X =k}= PO . k=012,--, A>0.

RS}
k 00 ﬂk -1

E(X)= Zk —e 'ﬂz(k 1)'

=Ae*.e* = 4.



EXH)=E[X(X-1D+ X]

= E[X(X =]+ E(X)

k

+00
=Y k(k=1)-"e*+1
k!
k=0

>y 1 A 2 44 2
=Ae .(k 2)'+/1=/1e e +A=A"+A.
k=2 _ .

Tl D(X)= E(X)-[EX)'=A+A-21=4.
HFA RN £ #HETSH 4.




